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= 7| 2%} : [Length] = [L], [Mass] = [M] = [Weight] = [F], [Time] = [T]

« EHR1Al
= N}FSHERRIA| : [L], [M], [T]
= METHRAA - [L], [F, [T]
BT
= 7| ZEHS: ft, Ib, sec
« MECHIO| HE FX} Ibes 7|22 2 [bf(pound force)S 2|0|Et
Ho| c2: slug = Ib -Sec?/ft

SI £k2|(The Intemational System of Units)
= 7|XEHR] :m, kg, s

= kg27|2HOR kg, (kilogram mass)E B8 5t7| /510 Ho| =



7|XEle

» Length : m, ft = Mass : kg, slug = Time:s, sec * rad

= Current : A » Temperature : K = Voltage : V

ST
 ZL 1 m/s, ft/sec = & : 1N = 1kg - m/s? Ib, kg
] _ 2 . -2 2
= &® 1 1Pa = IN/m’ psi = Ib/IN" kg/MM® L 91 . 95 - 1N - m, Ib - ft, kg - m
= &3 : 1W = 1J/s, |b - ft/sec, kg - m/s, hp

= DHE :N-m, kg - m

chelA
= T(10'2), G(10%), M(108), k(103), c(10-2), m(10-3),(10-6), n(10-?), p(10-12)

““oc cgs RO 2 sojmof g v, s O HBIM| (upu
ol
o

e= HE MM 4e, 22 2oiFop



w Al - 1. 2l =S X[FH0F 5l=71?

a)n=\/E, k =1kg/mm, m=1kg
m

K Y = 1kg;/mm | 1kg,, 9
"\ 1kg,  \1kg, mm

\ _\/m%xw“mm 1 50

= 100 —=—Hz
1kg,, mm-s’ s




\E=(§\>Bg+p x AH
E =(35200kgx9.8+7kg/cmx8532.3¢cm)0.62m
=(344960kg +59936k(q)0.62

E = 251035kg.m = 2,460,143 N-m

E =(mg + pA)H

E =(35200kgx9.8m/s* + 7kgf/em*x8532.3cm?) x 0.62m
=(344960N +59726kgfx9.8N/kgf) x 0.62m
=576770 Nm =577000 Nm



w ALl - 3. IE{Y0]| =
M

d

=2 Xtz

F=ma = N =Kg-m/sec?
W (weight) = m(kg) x g(m/sec?), g =9.806.m/sec’

HEE A=

F=ma = N=kg-m/s’
W (weight) = m(kg) x g(m/s®), g =9.806m/s’




